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Q1 (a) Define LPP and also give its vector representation. [3] 
 (b) Put the following problem in standard form. What do you mean by basic feasible 

solution? 
Maximize Z= 2x1-3x2+4x3 
Subject to  
                     x1   + 2x2+x3 ≤ 8 
                    2x1 -x2 +x3    ≥ 2 
                    4x1- 2x2- 3x3 = - 6  
                    x1, x2 ≥0 and x3 is unrestricted in sign. 

[3] 

    

Q2 (a) Maximize the objective function  
                                Z= 2x1 + 3x2 
Subject to  
                                 x1+x2 ≤ 1 
                                3x1 + x2 ≤ 4  
                       and    x1, x2 ≥ 0           
 by using graphical method.        

[3] 

 (b) Find the set of solutions to  
 
                       Minimize            Z= 3x1 + 2x2 – 5x3 
                      and maximize      Z= 2x1 + 3x2 + x3                
respectively, 
subject to the constraints          x1+ 3x2+ 2x3= 8 
                                                  2x1+ 2x2+ x3= 5 
                                      and      x1, x2, x3 ≥ 0 . 

[3] 

    

Q3  Maximize Z = 7x1 + 12x2 + 16x3  
 
Subject to  
                    2x1 + x2 + x3 + x4 =1  
                    x1 + 2x2 + 4x3 + x5 = 2  
  and            x1, x2, x3, x4, x5 ≥ 0 .      

[6] 

    

Q4  Maximize        Z= x1-x2 +2x3  
Subject to     x1-x2 +4X3 ≥ 2 
                  -3x1+x2+x3 ≤ 8 
                  -x1+ 3x2+2x3 ≥ 4 
and x1, x2, x3 ≥ 0 . 
 

[6] 

    

Q5  Use duality to solve the problem  
Maximize     Z = -2x1 + 3x2 

Subject to      x1 ≤ 6 
                      x2 ≤ 4 
                x1+x2 ≤ 5 
                      x1 ≥1 
and x1, x2 ≥ 0 

[6] 
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